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Discuss the prototype model. What is the effect of
designing a prototype on the overall cost of the
software project ?
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9. Sketch a neat diagram of spiral model of software
life cycle?
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Compare the waterfall model and the spiral model
of software development.
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Software Engg.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
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5. Describe any one software size estimation technique.
4
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OR (3121an) (iii)
What are risk management activities?

wiRaw geg= wfafaferat @ar 2 2

6. What is the degree of a relationship ? Give an (iif)
example of each of the relationship degree.
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OR (3121a1) (iv)

What are the components of a software ?
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UML stands for

(a) Uniform modeling language
(b) Unified modeling language
(c¢) Unit modeling language

(d) Universal modeling language

UML @&t 3ref @ -2

(@) gfwid AfsfeT dwaw
@) gFrerss ArsfaT dvaw
(@) gfac wrsfeT dwaw
(?) gfrada arsfaT dvdw

Effort is measured in terms of :
(a) Person-months

(b) Rupees

(c) Persons

(d) Months
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Answer all Five Questions.

gl 9fa g3l & S<X © | 4x5=20

2.  What is the difference between alpha testing and

beta testing ?
4
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Waterfall model is not suitable for-
(a) Small projects

(b) Accomodating change

(c) Complex projects

(d) None of the above

Bl Arsd feua fay Sugad
2?

(31) ®BIc Yloide & ferg

(@) smprmrsfeT 9w

SIEAGELR IS

(]) 3° 4 BIg T8

Spiral model was developed by-
(a) Bev Littlewood

(b) Berry Bochm

(c) Roger Pressman

(d) Victor Basiti
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A node with indegree # 0 and outdegree = 0
1s called;

(a) Source node

(b) Predicate node

(c) Destination node

(d) None of the above

s s forgar gafsdt # 0 ta ansefsil
=02 beddl a7

(@) e s

@) fufsawe s

(W) waer s

(]) 37° 4 HIg T8

Alpha testing is done by ?
(a) Customer

(b) Tester

(c) Developer

(d) All of the above
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Which one is not a size measure for software-
(a) LOC

(b) Function count

(c¢) Cyclomatic complexity

(d) Halsteads program length

AiTedIR & fIw HI9 A1 MHR A9
gl 8?

(31) waraT .

(@) ®FRE P8

(@) argaaifed duafaad

(2) e=uadls U™ of A

COCOMO was developed initially by
(a) B.W. Bohem

(b) Gregg Rothermal

(c) B. Beizer

(d) Rajeev Mall
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10.

11.

TP GiFcdIR fdbrg & diexbid dAfsd AR
WISl Al Y gardr & |

What are the characteristics to be considered for

the selection of a life cycle model ?

AlFedIR Sfiaq ash Alsd & I9dqd & forv
foos1 fagiwarsn wr faar fear s =arfRy,
ARAT BN |

OR (3121a1)

Explain the concept of function points. Why FPs

are becoming acceptable in industry ?

B F Ulge P JAERCT bl AHSMT | ThoUlo
S ¥ Wierd af 8l @ 2 ?

Consider the problem of library management
system and design the following :

(1) Problem statement

(i1) Use case diagram 6
(i11) Use cases

P.T.O
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What are the characteristics to be considered for

the selection of a life cycle model ?

AlIFedIR Sfiad ash Aisd & 9d4d & foIu
fre1 fagtuarsn wx faar fear s=m =nfav,
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OR (3121d1)

Explain the concept of function points. Why FPs

are becoming acceptable in industry ?

BF Ulse B IJAERCT bl AHSMT | ThoUlo
ST ¥ Wierd ) 8 @ 2 ?

Consider the problem of library management
system and design the following :

(1) Problem statement

(i1) Use case diagram 6
(111) Use cases
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